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Self Evaluation (D1S2) oo/
Take your time and try to answer as many questions as you can. Show your work.

1. Evaluate
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2 Write 32 = 9 in logarithmic form.
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3. Solve 32% = 3X+1
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4. Between which pair of whole numbers does the square root of 20 lie?
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6. What is the conjugate of
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Self Evaluation (D1S1)

Take your time and complete as much as you can. Show all your work.

1. Find the equation of the line between the points (1,2) and (3,4).

Slope : 12 . 2]
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2. Write the equation in slope-intercept form x + 11 = 10y + 1.
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4. Solve the following system of equations:
axt+ty=6and-3x+y=2
X+4% =0
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5. Solve the inequalities
a.3<-6-5x<12
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Self Evaluation (D2S1)

' Take your time and compete as much as you can. Show your work.

1.P=4x*—3x3 +x2—-5x+ 11
Q= —-3x*+6x3—-8x2+4x-3

a. Find P -@Q
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c. Find 2P + 4Q 9y - 3}
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2. Evaluate (3x — 2)(2x + 3)(2x — 3)

(3x-2) (4x7= 6x Hx- q)
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| Simply et using long division.
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6. Sketch the graph of f (X) = VX — 2 + 3 Iabel at least one point.
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Self Evaluation (D2S2)

Take your time and complete as much as you can. Show all your work.

1. Graph y = 3 cos(3x - 7). State the period, amplitude, phase shift
and Label the key points. V)
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2. A 20-it ladder leans against a building so that the angle between the ground and the
ladder is 72 degrees. How high does the ladder reach on the building?
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3. Giventan8 = 7—52-and gis acute, what is the value of cos8?
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4. Fill in the values of the unit circle:

5.8ove 3tan 3(x) —3tan %(x) —tan(x)+1=0
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